Power Standard 8.5

Pre-formative Assessment Scoring Guide

1) B (R3C- Summarizing)

2) A (R3C- Compare/Contrast)

3) D (R3C- Sequence of Events)

4) C (R3C- Sequence of Events)

5) Constructed Response Scoring Guide (R3C- Effectiveness of Solutions)

3 Points
Response includes text based answer on how Navajo sand painters solve the problem of not wanting their sand paintings to have sacred power AND two details supporting why it is an effective solution.

2 Points
Response includes text based answer on how Navajo sand painters solve the problem of not wanting their sand paintings to have sacred power AND one detail supporting why it is an effective solution.

1 Point
Response includes text based answer on how Navajo sand painters solve the problem of not wanting their sand paintings to have sacred power.

0 Points
Response includes incorrect answer, only details from the text, OR is left blank.

Example of 3 Point Response:

· The Navajo solve the problem by making their paintings imperfect.  This is a good solution because the imperfections are small and the tourists will buy them for high prices anyway.  

             Example of a 2 Point Response:

· The Navajo solve the problem by making their paintings have a small flaw.  This is a good solution because the tourists will buy them for high prices anyway.

              Example of a 1 Point Response:

· The Navajo solve the problem by making their paintings have small flaws.  

              Example of a 0 Point Response:

· I’d buy one of those paintings.  
